D00 -00dd -matlab O O

Data2 000000 decision200000
%%%my_test [J U U U
clc;
%%% %% %% %% %% %% %% %% %% %% %% %% %% %% %% %% O 0000000
file = textread('data2.txt','%s','delimiter',"\n','whitespace’,"); OOOOoOoOoOooooooooo
[m,n]=size(file); % OO OO0
for i=1:m
words=strread(file{i},'%s','delimiter’,));% O00O0O0OOOOOOOO0OOOOOOO0O0O
words=words";% [ [J
X{i}=words;
end

X=X,

%%%%% %% % %%% %% %% %% %% %% %% %% %% %% %% % %% %% %% %% %% % %% %
[B,num,AT]=my_reduct(X); OOOOoOood
ind_AT=ind(X); %O0OoOoDoDoooood

%%% %% %% %% %% %% %% %% %% %% %% % %% %% %% %% %% %% %% %% O00000000
disp(CODOD0DOODOOOO M
[m,n]=size(B);
for i=1:m
disp(B{i});

end

%%% %% %% %% %% %% %% %% %% % %% %% %% %% %% %% %% %% % %% %% OO0 000000
file = textread('decision2.txt','%s','delimiter',"\n','whitespace',");
[m,n]=size(file);
for i=1:m
words=strread(file{i},'%s','delimiter’," *);
words=words';
D{i}=words;
end

D=D";

%%% %% %% %% %% %% %% %% %% %% % %% %% %% %% %% %% %% %% % %% %% %% %% % Oooooo
HRERN

X_D=X;

[I,k]=size(X_D{1});

pos_d=pos(X_D,D);% O O

for i=1:m %%%%% %% %% %% %% % 0 0 O



0 %%%%%%%% %% %% %% %% %% %% %% %% %% %
if(~ismember(num(i),pos_d))
B{i}="; %OOOOOOOOO B{OO0ODO0OO0O0OO0OOO
end U oooodoooodood

end

%wO0O00O00OO000O00ooooood BOODDOODO D
[m,n]=size(B);
for i=1:m
if(~isequal(B{i},"))
B{iH{1,k+1}=D{i{1};
end

end

%%% %% %% %% %% %% %% %% %% % %% %% %% %% %% %% %% %% %% % %% %% % %% %% oooooo
00
disp(COODOODOOOO M
[m,n]=size(B);
for i=1:m
disp(B{i});

end

%%%%%my_reduct 0 0O 0O O
function [C,num,reduct_attr]=my_reduct(X)
%%%%%y OO 000 cell D000 reduct attr DO 00000
%X 0DO0O0D0O0oO0oooog
clc;
%%% %% %% %% %% %% %% %% %% %% % %% %% %% %% %% %% %% %% % [0 O
[m,n]=size(X);
[p.K]=size(X{1});
ind AT=ind(X):% 00000000
reduct attr=[]; % 0000000
num=zeros(m,1);% 0 0000000000
for i=1:k
B=delete AT(X,i);
if(isequal(ind_A T,ind(B))) %0 IND(AT-{a}=IND(A T)
reduct_attr=union(reduct_attr,i); %O 000000000
X=B;
end

end

%%%%0%%%%%%% %% %% %% %% %% %% %% % %% %% 0 00 0O 0O



k=1,
for i=1:m
if(~isequal(ind_A T{i},[]))
C_i=ind_A T{i,1}(1);
num(Kk)=i;
C{k,1}=X{C_i}; ol OO0 Uoon
k=k+1;
end

end

%%%%%ind 00O 0O 0O
function yy=ind(X) %%%%%%%%%%%%%%%%%%%%%%%%%%% %% % %% %% %% goooggon
[m,n]=size(X);
k=1;
ind_AT=cell(m,1);
for i=1:m
forj=(+1))m %O 00000 =m0O00000000O0O0DOOOOOODOOOO0O0O
if(~isequal(X{i},")) %0 X{i} 00O
ind_AT{k}=union(ind_A T{k},i); OOOOOoOoooo
if(isequal (X{i},X{i}))
X{}="; %0 X{i}==X{i}, 000 X{}
ind_AT{k}=union(ind_A T{k}j); % 00000000
end
end
end
k=k+1;

end

%%%delete AT DO OOO0O
function y=delete_ AT(X,ATi)% 00O X OO iO0OO0OO
[m,n]=size(X);
[I,k]=size(X{1});
for i=1:m

X{HA  Ti}="

%%%%%pos [ [ [ [
function pos_d=pos(X,D)% 00O OO OOOOO
%X 000000 DOOOOO

ind_D=ind(D); %0O0O0O0O0O DOOOOOOO



[m,n]=size(ind_D);
ind_X=ind(X); % 0000000 XOOOOOOO
low=[]; % 0O O OOO0OOOO
for i=1:m
for j=1:m
if(~isequal(ind_X{i},[]) &&~isequal(ind_D{j},[]))
if(ismember(ind_X{i},ind_D{j}))
low=union(low,ind_X{i});% OO0 Pos_AT(d)=low_AT(X1)Ulow A T(X2)U...
end
end
end
end

pos_d=low;



